2021			К	LTM	
2021		USD RATE RM			TURNOVER
Jan.	1		Cl	OSED	
	4	20,580	4.0012	82,345	16
	5	21,200	4.0087	84,984	22
	6	21,330	4.0197	85,740	12
	7	21,440	4.0233	86,260	18
	8	21,460	4.0440	86,784	16
	11	21,460	4.0462	86,831	12
	12	21,000	4.0617	85,296	13
	13	21,400	4.0480	86,627	8
	14	21,440	4.0437	86,697	15
	15	21,550	4.0360	86,976	3
	18	21,700	4.0490	87,863	1
	19	21,800	4.0520	88,334	16
	20	21,800	4.0495	88,279	13
	21	22,000	4.0330	88,726	9
	22	22,650	4.0390	91,483	29
	25	22,370	4.0510	90,621	25
	26	23,000	4.0468	93,076	29
	27	23,330	4.0480	94,440	21
	28		Cl	OSED	
	29	23,360	4.0575	94,783	36
ΤΟΤΑΙ		414,870		1,676,146	314
TRADIN	IG	19			
AVERAG	GE	22,085	4.0402	89,245	17
LOWES	ST	20,580			1
HIGHES	ST	23,360			36

2024			К	LTM			
2021		USD RATE RM TURN		TURNOVER			
Feb.	1		CI	LOSED			
	2	24,300	4.0430	98,245	37		
	3	25,010	4.0485	101,253	27		
	4	24,650	4.0521	99,884	27		
	5	24,300	4.0760	99,047	22		
	8	24,050	4.0620	97,691	21		
	9	24,100	4.0624	97,904	17		
	10	24,300	4.0400	98,172	21		
	11	25,300	4.0470	102,389	16		
	12		CLOSED				
	15	25,300	4.0415	102,250	28		
	16	28,485	4.0330	114,880	34		
	17	27,400	4.0413	110,732	28		
	18	26,800	4.0362	108,170	28		
	19	26,250	4.0432	106,134	23		
	22	27,000	4.0420	109,134	34		
	23	27,150	4.0450	109,822	20		
	24	27,070	4.0423	109,425	17		
	25	27,070	4.0447	109,490	38		
	26	27,100	4.0492	109,733	18		
TOTA		465,635		1,884,355	456		
TRADIN	IG	18					
AVERAG	GE	25,965	4.0468	105,050	25		
LOWES	ST	24,050			16		
HIGHES	ST	28,485			38		

2024			К	LTM	
2021		USD	RATE	RM	TURNOVER
Mar.	1	26,000	4.0555	105,443	11
	2	23,720	4.0568	96,227	19
	3	24,700	4.0525	100,097	20
	4	24,500	4.0555	99,360	26
	5	24,500	4.0699	99,713	21
	8	25,200	4.0922	103,123	20
	9	25,200	4.1273	104,008	29
	10	25,850	4.1281	106,711	31
	11	26,300	4.1225	108,422	28
	12	28,500	4.1191	117,394	28
	15	28,500	4.1185	117,377	18
	16	26,100	4.1168	107,448	25
	17	25,950	4.1210	106,940	20
	18	26,650	4.1091	109,508	25
	19	27,540	4.1203	113,473	20
	22	26,660	4.1163	109,741	16
	23	26,640	4.1193	109,738	20
	24	26,940	4.1343	111,378	18
	25	26,000	4.1398	107,635	21
	26	26,000	4.1510	107,926	20
	29	27,150	4.1504	112,683	20
	30	26,750	4.1480	110,959	17
	31	26,750	4.1593	111,261	21
ΤΟΤΑ	L	602,100		2,476,566	494
TRADIN	IG	23			
AVERA	GE	26,162	4.1132	107,637	21
LOWES	ST	23,720			11
HIGHES	ST	28,500			31

2021			К	LTM	
2021		USD	RATE	RM	TURNOVER
Apr.	1	26,350	4.1445	109,208	19
	2	26,250	4.1420	108,728	15
	5	26,250	4.1455	108,819	15
	6	26,250	4.1365	108,583	19
	7	27,050	4.1305	111,730	15
	8	26,950	4.1435	111,667	14
	9	26,800	4.1385	110,912	15
	12	26,800	4.1405	110,965	15
	13	26,750	4.1380	110,692	15
	14	26,550	4.1340	109,758	20
	15	26,850	4.1335	110,984	16
	16	26,850	4.1322	110,950	12
	19	26,950	4.1339	111,409	14
	20	27,200	4.1198	112,059	18
	21	27,600	4.1212	113,745	14
	22	27,500	4.1138	113,130	13
	23	27,500	4.1160	113,190	14
	26	27,200	4.1057	111,675	16
	27	27,670	4.1028	113,524	15
	28	27,670	4.1060	113,613	15
	29		CI	LOSED	
	30	30,250	4.1085	124,282	18
TOTA	L	569,240		2,349,622	327
TRADIN	١G	21			
AVERAG	GE	27,106	4.1276	111,886	16
LOWES	ST	26,250			12
HIGHES	ST	30,250			20

2024			К	LTM	
2021		USD RATE RM TUR			TURNOVER
May.	3	30,250	4.1075	124,252	17
	4	30,250	4.1125	124,403	18
	5	30,700	4.1220	126,545	17
	6	30,950	4.1258	127,694	23
	7	32,350	4.1204	133,295	26
	10	31,900	4.1100	131,109	12
	11	31,500	4.1195	129,764	14
	12	31,500	4.1296	130,082	17
	13		CL	OSED	
	14		CLOSED		
	17	30,520	4.1396	126,341	15
	18	31,000	4.1338	128,148	13
	19	31,200	4.1310	128,887	13
	20	31,180	4.1450	129,241	12
	21	31,500	4.1482	130,668	15
	24	31,050	4.1445	128,687	16
	25	30,850	4.1461	127,907	16
	26		CL	OSED	
	27	30,850	4.1455	127,889	15
	28	30,850	4.1440	127,842	27
	31	32,100	4.1440	133,022	12
TOTAI	_	560,500		2,315,777	298
TRADIN	IG	18			
AVERAG	GE	31,132	4.1316	128,611	17
LOWES	ST	30,250			12
HIGHES	ST	32,350			27

HISTORICAL KLTM TIN PRICES – YEAR 2021

2024		KLTM					
2021		USD RATE RM TURNOVE			TURNOVER		
Jun.	1	32,100	4.1248	132,406	11		
	2	32,050	4.1290	132,334	12		
	3	32,000	4.1270	132,064	12		
	4	31,650	4.1316	130,765	13		
	7		CL	OSED			
	8	31,550	4.1244	130,125	13		
	9		CL	OSED			
	10		CL	OSED			
	11		CL	OSED			
	14		CL	OSED			
	15		CLOSED				
	16		CL	OSED			
	17		CL	OSED			
	18		CL	OSED			
	21		CL	OSED			
	22			OSED			
	23		CL	OSED			
	24			OSED			
	25		CL	OSED			
	28			OSED			
	29		CL	OSED			
	30		CL	OSED			
TOTA		159,350		657,694	61		
TRADIN		5					
AVERAG		31,857	4.1274	131,489	12		
LOWES		31,550			11		
HIGHES	ST	32,100			13		

2021			К	LTM			
2021		USD	USD RATE RM TURNOVER				
Jul.	1	CLOSED					
	2	CLOSED					
	5		CLOSED				
	6		CL	OSED			
	7		CL	OSED			
	8		CL	OSED			
	9			OSED			
	12		CL	OSED			
	13		CL	OSED			
	14		CL	OSED			
	15		CL	OSED			
	16		CL	OSED			
	19		CL	OSED			
	20		CL	OSED			
	21		CL	OSED			
	22		CL	OSED			
	23		CL	OSED			
	26		CL	OSED			
	27		CL	OSED			
	28		CL	OSED			
	29		CL	OSED			
	30		Cl	OSED			
ΤΟΤΑ		0		0	0		
TRADIN		0					
AVERAG	GE	0	0.0000	0	0		
LOWES	ST	0			0		
HIGHES	ST	0			0		

2021		КЦТМ					
2021		USD	USD RATE RM TURNOVER				
Aug.	2	CLOSED					
	3		Cl	LOSED			
	4	CLOSED					
	5		Cl	LOSED			
	6		Cl	LOSED			
	9		Cl	LOSED			
	10		Cl	LOSED			
	11		Cl	LOSED			
	12		Cl	LOSED			
	13		Cl	LOSED			
	16		Cl	LOSED			
	17		CLOSED				
	18		Cl	LOSED			
	19		Cl	LOSED			
	20		Cl	LOSED			
	23			LOSED			
	24		Cl	LOSED			
	25			LOSED			
	26			LOSED			
	27			LOSED			
	30			LOSED			
	31	CLOSED					
TOTA		0	0 0 0				
TRADIN		0					
AVERA		0	0.0000	0	0		
LOWES		0			0		
HIGHES	ST	0			0		

2021		КЦТМ					
2021		USD	RATE	RM	TURNOVER		
Sep.	1	CLOSED					
	2		CLOSED				
	3	CLOSED					
	6		CL	OSED			
	7		CL	OSED			
	8		CL	OSED			
	9		CL	OSED			
	10		CL	OSED			
	13		CL	OSED			
	14		CL	OSED			
	15		CL	OSED			
	16	CLOSED					
	17	CLOSED					
	20		CL	OSED			
	21		CL	OSED			
	22		CL	OSED			
	23		CL	OSED			
	24		CL	OSED			
	27		CL	OSED			
	28		CL	OSED			
	29		CL	OSED			
	30		CL	OSED			
ΤΟΤΑ	L	0		0	0		
TRADIN	IG	0					
AVERA	GE	0	0.0000	0	0		
LOWES	ST	0			0		
HIGHES	ST	0			0		

2021		KLTM					
2021		USD RATE RM TURNOVE			TURNOVER		
Oct.	1	CLOSED					
	4	CLOSED					
	5		CLOSED				
	6		Cl	LOSED			
	7			LOSED			
	8		Cl	LOSED			
	11		Cl	LOSED			
	12		Cl	LOSED			
	13			LOSED			
	14			LOSED			
	15		CLOSED				
	18			LOSED			
	19			LOSED			
	20			LOSED			
	21			LOSED			
	22			LOSED			
	25			LOSED			
	26			LOSED			
	27			LOSED			
	28			LOSED			
	29	CLOSED					
TOTA		0 0 0			0		
TRADIN		0					
AVERAG		0	0.0000	0	0		
LOWES		0			0		
HIGHES	ST	0			0		

2021		KLTM					
2021		USD	SD RATE RM TURNOVER				
Nov.	1	CLOSED					
	2		CLOSED				
	3	CLOSED					
	4		CLOSED				
	5		CL	OSED			
	8		CL	OSED			
	9		CL	OSED			
	10		CL	OSED			
	11		CL	OSED			
	12		CL	OSED			
	15		CL	OSED			
	16		CL	OSED			
	17		CL	OSED			
	18		CL	OSED			
	19		CL	OSED			
	22		CL	OSED			
	23		CL	OSED			
	24		CL	OSED			
	25		CL	OSED			
	26			OSED			
	29			OSED			
	30		CL				
TOTA	L	0		0	0		
TRADIN		0					
AVERAG	GE	0	0.0000	0	0		
LOWES	ST	0			0		
HIGHES	ST	0			0		

2024				KLTM				
2021	USD RATE RM TUP			TURNOVER				
Dec.	1	CLOSED						
	2	CLOSED						
	3		CLOSED					
	6			CLOSED				
	7			CLOSED				
	8			CLOSED				
	9			CLOSED				
	10			CLOSED				
	13			CLOSED				
	14			CLOSED				
	15			CLOSED				
	16		CLOSED					
	17		CLOSED					
	20			CLOSED				
	21	39,500	4.2172	166,579	5			
	22			CLOSED				
	23			CLOSED				
	24			CLOSED				
	27			CLOSED				
	28			CLOSED				
	29			CLOSED				
	30			CLOSED				
	31			CLOSED				
	TOTAL 39,500			166,579	5			
TRADING 1								
AVERA		0	4.2172	0	5			
LOWES		39,500			5			
HIGHE	ST	39,500			5			